ACTIVITY 1 (UNIT 2, PAGES 28 — 29) — SOLUTIONS
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1. A cosine curve has an amplitude of 3 units and aéenod of 3 radlans oy ) S5 =55
D -5

The equarion of the axis is y = 2, and a horizontal shift of radians

to the left has been applied. Write the equation of this func:ticn. ' ‘1) % o 5( 2 ( ’X+ )1;;4
In addition, sketch two cycles of the graphyof this function. -~ sy '
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and 127, () = 3@3(3(1:}31:))@ =3cosyr d =3002=2,

l=l

2. Determine the value of the function in question 1 if x =

()35 (B(F+EDR= 3o 2= 3(-5)+2 = &
P(A) = Bees (B(°G +5) 42> Bces<°’ 24,



3. Use your graph to estimate the x-value(s) in the domain 0 < x < 2,
where y = 2.5, to one decimal place.

In the intevval l<x<& V=5 for x2 3T

( Note: +hat FT = e 9635 , so the (uferual Og<7< <R
IS Jusfa[ch /urﬂer L%cm the i(nterval O< x <5f\
Outside the inferval 0<x<R, y=Q.5 approxindely

W}WQ Y= -—S%n ) _Z%E ) l7‘ﬂ‘ (SQQ f‘jm}olr\ dn Prex/r!)us Pz(j€>

4. The number of hours of daylight in Vancouver can be modelled by a 7, 2|
sinusoidal function of time, in days. The longest day of the year is Tl =0
June 21, with 15.7 h of daylight. The shortest day of the year is TJan3) ~> 30

December 21, with 8.3 h of daylight. Feb 1 = 3)

a) Find an equation for /i(£), the number of hours of daylight on the™; 7 1;" __?bgol

tth day of the year. In addition, sketch one cycle of the graph of this function.

0
b) Use your equation to predict the number of hours of daylight in ;.:l o] T! - Dl,\,
hVancouver on January 30th. ey T AF»r 30 2 Ao
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